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A0001 RHERE HAEDY 86 62 30 20 22 44 30 25.9 20 86
A0002 FRRE WwesnE 44 39 94 31 55 52.6 44 22.1 31 94
A0003 HIRBLFWEHN DD 70 86 58 93 71 75.6 71 124 58 93
A0004 MERE SSHINT 5 60 75 72 7 57.8 72 27.1 5 77
A0005 STOH ALCHED 5 6 70 18 84 36.6 18 33.6 5 84
A0006 BEREE BOAB 46 16 71 32 72 47.4 46 21.9 16 72
A0007 BllE=E HhhT3 41 85 44 36 76 56.4 44 20.0 36 85
A0008 IHBTF <E3T3 5 3 44 57 62 34.2 44 25.4 3 62
A0009 WHEESR] ZAESL 93 43 4 71 72 56.6 71 30.7 4 93
A0010 EBEREE £S04 67 19 100 70 17 54.6 67 32.0 17 100
A0011 fE4KE x&x&EoN 79 23 71 7 12 38.4 23 304 7 79
A0012 EIEE Lasbh 21 17 68 62 74 48.4 62 243 17 74
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A0016 FHEZNTHREY » 9 81 49 92 78 61.8 78 30.0 9 92
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A0019 EAAKRIEDEFA 51 93 99 16 27 57.2 51 33.7 16 99
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# student_grade.py: £REDEIEHETLE(HRE7.2)
import numpy as np # NumPy

import pandas as pd # Pandas

import matplotlib.pyplot as plt # Matplotlib
import japanize matplotlib # Matplotlib HARZEXI
import os # os.path.dirname BS%k{s A

# ARV TLRIT 74T LBE

pathname = os.path.dirname( file )

# Excel Z7AIE: RVUTRERILTH LT IZHBHER
filename = 'student_grade.xlsx'

fullpath_filename = pathname + '¥¥' + filename

# Excel —h4
sheetname = "FEHEES-K&Z-FIMLEGEL!
# B4

subjects = ['EHE', '

=111}

5, 'BF, "EHRE', '#HR']

# Excel D74 ILEnd A A FERE
try:

pd.ExcelFile(fullpath_filename)
except:

print(filename, 'HMHIFEHATLI ")

# Excel 774 ILad+iAdr B DA EE
with pd.ExcelFile(fullpath_filename) as xls:
sheet = pd.read_excel(xls, sheetname)

# print(sheet)

H m e e e
# YR, RERE, &8R, RER

# [EFE : 45.9, 30.5, 94, 2

H m e e e

print(" YR, FERE, PRE, 55,

for i in range(len(subjects)):
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data = sheet[subjects[i]]
print(f'{subjects[i]:s}: {np.average(data):6.1f}, {np.median(data):8.1f},
{np.std(data):6.3g}, {np.amax(data):6d}, {np.amin(data):6d}")

# TH@, hRIE FREREDT ST

X = subjects

y_average = [np.average(sheet[x[i]]) for i in range(5)]
y_median = [np.median(sheet[x[i]]) for i in range(5)]

y_std = [np.std(sheet[x[i]]) for i in range(5)]

# ZDLIC Axes ATV xHk(ax, ax2)%
# 1473 FICHERL, Y1 X% 10x10 £F %
fig, (ax, ax2, ax3) = plt.subplots(1, 3, figsize=(15, 5))

# BU37: FYR

ax.set_title('® BAITHIE")
ax.set_ylabel('§m")

ax.set_ylim([0, 100]) # H/MELRKIEDHRE
ax.grid(axis = 'y') # y @85 yRDAHHEE
ax.bar(x, y_average) # #9357

# #BJ37: hR{E
ax2.set_title('RBRIFRIE")
ax2.set_ylabel('Bm")

ax2.set_ylim([0, 100]) # FR/MELRERKIEDRTE
ax2.grid(axis = 'y') # y &5 ) yRDHHEE
ax2.bar(x, y median) # #4557

# IS0 ZHERE

ax3.set_title(' R BRIIZERE")
ax3.set_ylabel('1Z#RZE")

ax3.grid(axis = 'y') # y BT UYFDHEE
ax3.bar(x, y_std) # #4552

# JS5IKRE

plt.show()
FATHER
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THR, BEERZE,
u5.9, u3.0,
52.7, 54.5,

51.7, 53.0,
46.9, 9.0,
55.8, 69.5,

BB RFi9E BBRhRE BB RIRERE
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